FEINE - EEHEILER - HZF - AR AIELER
= gl 4 # S % # wm =
£ (FO) 1B P 1B i 1 P51
H304 H294 " = % H304 H294F " = % H304 H294 & 490)
g E L 101 82 19 23.2 83 64 19 29.7 82.2 78.0 4.2
* A 8 10 -2 -20.0 10 -1 -10.0 112.5 100.0 125
5 & 28 12 16 133.3 21 10 11 110.0 75.0 83.3 -8.3
)is' X 8 19 -11 -57.9 5 14 -9 -64.3 62.5 73.7 -11.2
BHEIEREF 11 10 1 10.0 9 8 1 125 81.8 80.0 1.8
BREGEIEF 6 2 4 200.0 6 2 4 200.0 100.0 100.0 0.0
wHElh LD 40 29 11 37.9 33 20 13 65.0 82.5 69.0 135
EEHEL 1,473 2,085 —612 -29.4 1,094 933 161 17.3 74.3 447 29.6
2 A & 1,297 1,918 -621 -32.4 1,040 878 162 185 80.2 458 34.4
FEXZR 686 880 -194 -22.0 220 455 -235 -51.6 32.1 51.7 -19.6
A 521 676 -155 -22.9 144 145 -1 -0.7 27.6 214 6.2
2 R H 142 176 -34 -19.3 73 301 -228 -75.7 51.4 171.0 -119.6
B = = 23 28 -5 -17.9 3 9 -6 -66.7 13.0 32.1 -19.1
z O b 611 1,038 -427 -411 820 423 397 93.9 134.2 408 93.4
B & F & 153 132 21 15.9 40 47 -7 -14.9 26.1 35.6 -95
VoK Y 10 20 -10 -50.0 9 5 4 80.0 90.0 25.0 65.0
El Y 13 15 -2 -13.3 5 3 2 66.7 38.5 20.0 18.5
B % A R % X 7y g
T E H30E | H29E - B H30E | H29E - I H30E | H29E | !
A El % A = % A El %
E B N O 68 60 8 13.3 58 44 14 31.8 10 16 -6 -37.5
® A 6 10 -4 -40.0 6 10 -4 -40.0
5 & 21 18 3 16.7 16 11 5 455 5 7 -2 -28.6
)is' X 5 9 -4 -44.4 5 7 -2 -28.6 2 -2 -100.0
BEHEIEREF 8 7 1 14.3 7 4 3 75.0 1 3 -2 -66.7
BREGEISE 6 6 - 5 5 - 1 1 -
wElh LD 22 16 6 37.5 19 12 7 58.3 3 4 -1 -25.0
EEHGEL 126 153 -27 -17.6 119 124 -5 -4.0 7 29 -22 -75.9
2 A & 110 125 -15 -12.0 103 103 0 0.0 7 22 -15 -68.2
FEXR 35 48 -13 -27.1 32 42 -10 -23.8 3 6 -3 -50.0
T oE B 26 36 -10 -27.8 23 34 -11 -32.4 3 2 1 50.0
2 R H 8 6 2 33.3 8 6 2 33.3
B = % 1 6 -5 -83.3 1 2 -1 -50.0 4 -4 -100.0
z O b 75 77 -2 -26 Al 61 10 16.4 4 16 -12 -75.0
B & FE & 9 20 -11 -55.0 9 14 -5 -35.7 6 -6 -100.0
[03=Y K] 4 7 -3 -42.9 4 6 -2 -33.3 1 -1 -100.0
El Y 3 1 2 200.0 3 1 2 200.0




